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Lesson 26

Understand

Statistical Questions Name:

( How can you use a line plot to
interpret data?

Study the ple problem showing how to make a line
plot. Then solve problems 1-7.
Example
Anna planted radish seeds in her vegetable garden. At Height Number of
the end of two weeks, she measured the height of each (inches) Plants
radish plant to the nearest % inch and recorded her data 1 2
in a table. How can Anna show this data in a line plot? il 3
2
Make an X to stand for each plant in the table. For 2 8
example, the line plot below shows that two plants
1
were%inch tall. 2 7
x 3 2
X X
X X
X X
X X
X X X
X X X X X
X X X X X
1 1 1 1 1 1 1 1 ]
I T T T T T T T 1
1 1 1 1
o 3 1 13 2 25 3 33 4
Height of Radish Plants (inches)
e ————
e
3> E) How can you use the line plot to tell how many plants
are 2 inches tall?
I can count the number of Xs above 2 to see that s
there are 8 plants that are 2 inches tall. Vocabulary

line plot agraph that
uses Xs above a number
line, or part of a number
line, to show data. Line
plots are useful for
showing how data are
of the plants are about 2 or 2% inches tall. grouped.

I B3 Consider how the data in the line plot is clustered.
What does the line plot say about the plant heights?
Possible answer: Most of the plant heights are

clustered around 2 inches and 2% inches, so most
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Solve.
Use this situation and the line plot for problems 3-6.

Colton puts grapes in plastic bags to sell at the
farmer’s market. He weighs each bag and records the
weights in a line plot.

[I7® E) Whatis the difference in weight between the heaviest
bag and the lightest bag of grapes?

Show your work.
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Solution: 2 pounds

[ B How many bags of grapes weigh more than 1 pound
and less than 2 pounds?

10 bags

[ ® B Describe two different ways that a customer could buy
4 % pounds of grapes.
Answers will vary. Possible answer: The customer could buy three 1-pound bags and

onel %—pound bag or three 1 %—pound bags and one %—pound bag.

[P@» [@ Greg wants to buy two bags of grapes that have a
total weight of 3 % pounds. Is there a way that he can

do this? Explain how you know.
No; Possible explanation: If Greg buys a bag with 2 pounds and a bag with 1 %pounds,

he will have a total of 3 % pounds; if he buys two bags with 2 pounds each, he will have a

total of 4 pounds. There is no combination of two bags that will give him 3 % pounds.

[P:3» EA Describe a different set of data that you could display on a line plot.

Possibl the di

s of the buttons in a sewing kit
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C Challenge

=i

SUOIISIaNY [ed13S1IL)S PUDISIAPU[) 9T UOSSDT 3D




